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Question 1

Question Type: MultipleChoice

A JSON file is an example of:

Options:

A- structured data.
B- web data.
C- machine data.

D- processed data.

Answer:

A

Question 2

Question Type: MultipleChoice




Given the image below:
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Which of the following file formats is depicted?

Options:




A-JSON
B- CSV
C- XML
D- HTML

Answer:

A

Question 3

Question Type: MultipleChoice

Given the following report:



Quarterly Customer Service Report

Table 1. Frequency of Ticket Statuses

Rerported 1
In-Progress el
Closed 554

Table 2. Occurrence of Target Phrases

Have a great day! 1200
It i iy pleature 1o T
ASUST you.

Can you please hold? 7352

Maost tickets are being addressed soon after being
reported. Asking customens to hold is the most commonly
used target phrase.

Which of the following components need to be added to ensure the report is point-in-time and static? (Select two).

Options:

A- A control group for the phrases



B- A summary of the KPIs

C- Filter buttons for the status

D- The date when the report was last accessed
E- The time period lhe report covers

F- The date on which the report was run

Answer:

D, E

Question 4

Question Type: MultipleChoice

Which of the following is a best practice when updating a legacy data source?

Options:

A- Placing old data in new fields

B- Keeping only the most recent data



C- Creating a codebook to document field changes

D- Removing the data source from production

Answer:

C

Question 5

Question Type: MultipleChoice

Given the following tables:

ID Title

1 New CRM for Project Sales

2 ERP Implementation

3 Develop Mobile Sales Platform

ID Name Project_ID
1 John Doe 1
2 Lily Bush 1
3 Jane Doe 2
4 Jack Daniel Null




Which of the following will be the dimensions from a FULL JOIN of the tables above?

Options:

A- Two rows and three columns
B- Three rows and four columns
C- Four rows and two columns

D- Four rows and four columns

Answer:

D

Question 6

Question Type: MultipleChoice

Given the table below:



Name Gender Level Code Region
James Male College P ON
Paul Female Elementary A BC
Sean College College S QC
Dad Male High school |D AT
Nathan Female College E QcC
Ahmed Female University L ON

Which of the following variables can be considered inconsistent, and how many distinct values should the variable have?

Options:

A- Name, one
B- Gender, two
C- Level, three
D- Code, four

E- Region, five

Answer:
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